Geometry and Measure Revision Questions
1. (a) Mrs Pitt wants to put a border all the way around her living room. How many metres of border should she buy?

 The room has 2 windows (2m, 1.5m and 1m). The door is 0.25m wide:
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2. Sally buys an extra-large carton of fruit punch for her daughter’s birthday party. The dimensions of the carton are as follows:






(a) She has cups which hold 250ml of juice. How many cups could she make up from the extra large fruit punch? (Remember 1000 cm³  = 1 litre)

If Sally had 7.70 litres of fruit punch, how many cups could she make up.

(c) When sally gets the RSVP’s back from the invitations she discovers that less people are coming than she thought. She therefore decides to buy the medium carton of fruit punch which is half the size of the extra large. How many cups can she now make up? 

3.





A head teacher wants to plaster the walls of his staffroom. The dimensions are in metres as shown above. The staff room has one window (dimensions 1m by 4m) and the dimensions of the door are 2.5m by 1m.

(a) Calculate the total area of walls which require plastering?

(b) What volume of wall plaster will he need to cover all of his walls?

(c) How many tubs would he have to buy?
(d) Wall plaster is sold in 2 litre tubs which cost £10.70. How much will it cost to plaster his room?

(e) The teacher wants to put skirting boards around the room (excluding the window and door). What length of skirting board will he require?
4. John wants to paint the outside walls of his house. Paint is sold in 5 litre tins and covers 6 square metres per litre.













(a) Calculate the area of walls which requires painting.

(b) What volume of paint is required for this? (How many litres)

(c) How many tins will John require to buy and how much will this cost him?
5. Find the maximum number you can fit onto each sheet.
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6. Determine the maximum number of small boxes that can be fit into the large box:
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Wall Plaster:


 2 litre tub of plaster covers 30 m²
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